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Note :

1. This question paper has 100 questions. Each question carries 2 marks.

9. Read carefully instructions regarding method of answering questions given on the last page
and indicate your answers on the Answer-Sheet provided.

3.  Use of any type of calculator or log table and Mobile Phone is prohibited. -
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1. Wik aen S e e i g -
(a) 25
(b) 45 —
(c) 20
(d 90

2. W =fRE B gen s 9 3R F@

Directions : (Question 1-3)
Read the diagram given below. Choose the

answer from the given options of the

following questions :

10 25
20/17 (15\ 30 )40

727

A=No, of persons who drink tea

O =No. of persons who drink coffee

D = No. of persons who drink wine

1. Number of those persons who drink

only coffee :
(@ 25
(b) 45
() 20
(d) 90

2. Number of those persons who drink tea

g and coffee both ;
e @ 7
_Aa) 7 () 17
(i (c) 20
20
@ d) 25
(d) 25
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W safdmEt i wEn S aw™, w6
g wft o & -
(@) 15

b) 32

) 22

d) 24

ey : T B % W o T fr i
2 | 3 g fFera il 76 s o
T WSS & 3 | HHIR 2 |

TR : T WK o wft Iy <t mfeenat
3R wreferat % forg qft fen 4w o
& St =Ry ?

-1 : e, T€ AR TAHH TN G
T FHHIA H G |

TH-11 : &, s afgenadt & Tea
ST T 1 T THAH TR E |

(a) et -1 WA € |

(b) e Tb-11 AT R |

(c) 1A -1 AT eh-11 o @ |

(d) T T-I 3 11 AR @ |

HET 6n2 + 6n & n Th e HEA €,
FCHIR SRS

Number of those persons who drink all,
tea, coffee and wine :

(a) 15
(b) 32
(e) 22
(d) 24

Direction : Two arguments are given
after a statement, you have to
decide which argument is strong
and which argument is weak.

Statement : Should the
education for women and girls of
all the age groups to be given free
of cost in India ?

Argument I : No, it will weaken our
present social structure.

complete

Argument II : Yes, it only is the way
to regain the glory of Indian women.

(a) Only Argument I is strong.

(b) Only Argument II is strong.

(c) Either Argument I or Argument I is
strong.

(d) Neither Argument I nor Argument II
is strong.

The number 6n + 6n, where n is a
natural number, is always divisible by

(a) 18% (a) 18
(b) 128 (b) 12
) 68 ) 6
(d) 63128 (d) 6and 12
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6. TrmfaRea # & w wade 2 ¢
12 SFe, 23 e, 30 ey, 5 Ry,

14 e
(a) 23 e’
(b) 30 ey
() 5 fomman
(d) 14 7avay
e @.7-12)
ﬁtr%ﬁaawmﬁﬁﬂwwﬁmm
& .
JYZLS%dEGME_—T}omKLbéWQ;B;CD@")
\(
P 1. @ vl i '
>~ gmnw miﬁ?:fjf
- frgadiagie 0
2 @
T (b) TH
? ©
> @ @

8. 2YS, Edf ¥ It WHr walRm 2 3

.3.
Sig

6.  Which of the following is odd one ?

12 January, 23" January, 30" January,

5™ September, 14" November
(a) 23 January

(b) 30" January

(c) 5" September

(d) 14" November

Direction : (Question 7 - 12)

Study the following and answer the questions :

IY2=S£dEGM:7$HPOKLb@WQ13#CDO©

7. How many such symbols are there each
of which is followed by a number or

preceded by a letter but not both ?
(a) Zero
(b) One
(©) Two

(d) Three

8. 2YS is related to Edf in the same way

PHK ¥=fR[? as PHK is related to
(2) bQd@ (@) bQd
(b) @bL ¥ (b) @bL
() WQE® (¢) WQE
(d @bQd d @bQ
CGP - 18 - 02*
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9. T e 1 ¥ R v & we d % 9, How many such digits are there each of
Tefte B 1 T W IR Th N 7 § which is followed by a symbol or
feg Qi =l ¢ preceded by a letter but not both ?

(a) (a) Zero
(b) T (b) One
© @ (c) Two
(@) T A B TS (d) None of these

10, R foram amw § foew vas S agda | 10. How many such Jetters are there each of
TEE Y TEe Teh HE AT § g A which is followed by a number or
T8 ? preceded by a number but not both ?
(a) IR (a) Four

e A
© a () Two

11, 39 oaE A 3 & fraR oTH 8 ? 11. How many English numerals are there

in this arrangement ?
a) 7 7
(a) oo
— ) 5 ® 5
() 2 © 2
(d) 0 (HI§ ) (d) 0 (None)
CGP - 18 -~ 02* page No.7 Set-A
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+ % 0 T3l 9 5 e we®T | 12 How many symbols represent the
FAE 7 currencies of some countries ?
(a) 78 T8 (a) None
(b) TH (b) One
< () @ (c) Two
(d) &= (d) Three
13, ﬁqﬁﬁ@aaﬁaﬂﬁaﬁ‘a HEFAHE: | 13, The missing letters in the following
: c 3 A ,
ks b‘.f\_ g’ ] _{n EY } letter series in order are :
(a) beim b__hj_n_rt
(b) cfgo (a) bcim
(c) dfgp - (b) cfgo
d) dflp _ (c) dfgp
(d) dflp
14, frfefan W 38 = e 14.  Which of the following figures can be
mmﬁmi‘@ﬁm@%ﬁmm drawn without lifting the pencil and
without repeating a line 7
~ N
«@AA (B)IE A)LB (B’
LA 0D | o/ /A
_Aa) 94 (A) 3N (C) () Only (A) and (C)
(b) 39 (B) 3R (D) (b) Only (B) and (D)
(c) *ae (A) 3R (B) () Only (A) and (B)
(d) ¥ (A), (C) ¥R D) () Only (A), (C) and (D)
PageNo.8 Set-A
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15, fr=fafea smai 8 ﬁl‘(ﬁ;{, T sy | 15 Which diagram shows district, state and
) P U1 3 TG g R 7 country in following diagrams ?

® | ®

16, 13 EFdeudRdagRismE | 16. At which time the hands of clock will

¥ frg o T et 2 meet together between 1 and 2 O’clock ?
(a) 1:30 (B Lhen
®) 1:5% (b) 1:5—15—1
8 e
© 1:1077 (© 1:1037
z 7
d) 1:1035 @ 1:10:5
17. a3 =81T@n=? 17. 143" =81, thenn="
(a) 81 (2) 81
®) 9 ®) 9
(c) 8 ‘ (c) 8
(d) 6 @ 6
¢GP - 18 - 02* page No. 9 S
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18, 112 3[576 256

112 /576 /256

V196 12 X" ®uRY: 18, Thevalue:of‘Tg—6>< " g
@) 32 (2) 32
(b) 36 ®) 36
(c) 28 © 28
ik (d) 24
5 0D DD | Do)
LIC is
@ = @ &
A 2 ® 5
© 2nn—1 (c) 2nn-1
2 @ n(n2+ D)
@ a+D
20. Complete the following -
e YBV, TGT, OLR, JQp,
YBV, TGT, OLR, JQP, e A
(a) EVO e
i (©) EVN
(c) EVN % FVN
(d) FVN .
CGP-18-02* Page No. 10
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21, AR A ot e v e ) ghgt
et & | afe wdiar S 1 3, T sw
et forat gfeat geft 7 3
() 8 L
(b) 9 g
() 10

/ (d) S AR |

fde: (.22 -26)
A2 e U I H1 EAET HINT 3N I W
TR T349I T 3T} <IT :

ﬁtffgg@nrﬁwm @/
s

&

25—

70
60 +
50..
40+
30 +
20.-
104

50

=

30 —

=a
S

20,

il

¥ 3
T

0 T %

22. fw v # el a1 wfowra

All Saturday and Sunday are holidays

in a month. If the month is January,

21.

then how many total holidays are there
in that month ?

(a) 8

(b) 9

(c) 10

(d) Incomplete information.

Direction : (Question 22 — 26)

Study the graph given below and then give
the answer to the questions based on them.

Percentage of Non-electrified Villages

70 +

60 + e
~ i
SER 45 = |
2401 30 |
gt 25 |
E 20t 24 |
R

10 | H

L R S
States

22. In which state percentage of electrified

village is maximum ?

JAferpan @ 7
(@ 3 (a) a
b ¥ (b) b
) u (e) ¢
d 3 (d d
CGP-18-02* Page No. 11 oth
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23, m%mméﬁwﬁ
% o e 2 1 i 2 e 39
Fererfeper et et e 4 s e 3

aﬁaﬂmmﬁmﬁmmaﬁwq‘
3R 7

(@ |
() §
) 31

d %

24, %Tmﬁﬁmﬂmm%m:ﬁﬁﬁ

23,

If Central Governmen decided to help
immediate electrification and starteq

from the State  having minimum

electrified villages, then which state

Will be fourth i preferential order ?

(@) ¢
®) b
() a

(d) f

24, In how many states electrification of
Tt 57 2 5 ?lﬁm% ) the villages haye been completed
atleast 609% o above ?
(@) iy
(@) Five
®) W~
(b) Three
(c) IR
(¢) Four
d
@ @ @ Two
25, &9 @ T A H &l T 6t o 25. In which state percentage of electrifieq
b S MR 9 villages is double in comparison with
TR g ket State d ?
(@ & ~
(@ c
(b) ® (b) f
() & i
@ ® (d b
P Page No. 12
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. T 3 1 fonen it o 6 Rl
AIHR?

(@ 65

(b 25

() 35

7

d 75

few: (.27-31

A =1 & 397 (WRA § A1) S A H
= 7l W @ wehid wid § | $7h! RN

mmmwaﬁmmﬁﬁq
Lootf = 3¢

26. How many percentage of villages have

electrified in state a ?
(a) 65
(b) 25
()35

d 75

Direction : (Question 27 — 31)

The following charts shows the expenditures
on different items of people of two countries
(India and Nepal). Study them and find the

correct answer of the questions given below :

Travel | Education
45° 49°
Other

50° 5

27. How many times is the expenditure of

Nepal

India to expenditure of Nepal on food ?

(a) More than half

?)E‘ * (b) mﬁﬁm (b) Less than half
“ an © & T EN— (c) Less than two times
9/’,2.; @ AT A " (d) More than two times
§ CGP-18-02* 4 ¢ Page No. 13 s
(lJ '330 &2"‘ 5 p "’c'7<5 7§MA
/"8 T g/ﬂoﬁf o ikl o
s 3 (f ﬂfg?
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28. qTer % W WioH ) S Ieed WHS

29.

%1 fpad e st @E FW & 7

(a) 62.4%
(b) 71.5%

) 41.7%

(d) FH A B TE

YR AN 1 A He) | G@E AT
foraa fowa g ¢

28. How much more is the percentage of
total expenditure on entertainment in
comparison to food of the people in

Nepal ?
(a) 62.4%
) 71.5%

©) 41.7%

(d) None of these

29, What is the approximate percentage of
expenditure on other items of Indian

people ?
(@) 22% o) -22%
(b) 14% ) 14%
) 9% ©) 9%
d 17% (d) 17%
30. SR S B A R g andme s | 30, What is the ratio of expenditure on
travel of Indian people and expenditure
' ¥ A E 7
gt A X L ! on travel of Nepal people ?
(a) 9:5 Q) 9 5
© 5:3 (c) ‘338
@ 3:4 (dy 3%
g PR —
EP -18- 02* P Page No. 14
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32.

33.

'(d) 1 50gr 12 fore

. gfe JuTer 1 e WS T 22 Ry 50
FR A A ITT 38T W e @ gy

27

(a) ¥ 65E@ 30 &R
(b) ¥ 50TE 60 &R
(c) 60T

(d) T 10@ 20 &R

ot & T T STed HT AR 20 TR R |
Ffe wTedt qrt § el sl & S SHH! WR
14 f5.m, § | @l SR F AR fa

fpar. g7 [4
(a) 6Ts.am,
(b) 7fh.m.
(c) 10fw.m

(d 8fpm. -

2 767 T et 1 FHE: 2 TV ;T 3 WS
F w g § | 3R 31 7@ T A E
feu S, ot Zeht WA B T @ -

(a) 29930 fme

(b) 5wvE
© s0fme

31.

32.

33.

If the expenditure on education is
Z 22 lakhs 50 thousand of Nepal people,
then how much their expenditure is on

entertainment ?
(@) ¥ 65 lakhs 30 thousands
(b) T 50 lakhs 60 thousands
(c) T 60 lakhs
(@ T 10 lakhs 20 thousands

The weight of a bucket full of water is
20 kg. If the bucket is half filled with
water, then its weight is 14 kg. How
many kg is the weight of empty bucket ?

(a) 6kg
(b) 7kg
(c) 10kg

(d) 8kg

Two pipes can fill a cistern in 2 and 3
hours respectively. If both the pipes are
opened together, then the time taken to

fill the cistern is

(a) 2 hrs 30 minutes
(b) 5hrs

(¢) 50 minutes

(d) 1 hr 12 minutes

CGP -

18-02*
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M. 250 e e s Yot v @
12 A0 § i et @ | Yo B M

35. THIARHIX2,700% S wIdh A @l
Bl 2 e e aeq a1 10% e WA=
R AN BT ], A 34 TR 1 AT Yo
R ? o
b
(@ 2,700
W [
~(b) ¥3,000 ?(3/;6 e
© %3300 qjy
) 23,600 a,y%
36. fFdl smmen @a w1 dew e

TS SSeTs & At 15T R | R

Qe N
e
y/

34. A train of length 250 metre crosses a

12 seconds. How many

pole in
kilometres/hour is the speed of the
train ?
(a) 60
(b) 80
() 75
(d) 50

35.  On selling an article at ¥ 2,700 the logs
is the same as the profit if it was sold on
10% profit, then what is the cost price
of the article ?

(a) 2,700
(b) 3,000
() 13:300

(d) 3,600

36. The area of a rectangular field is 15

time the sum of its length and breadth.

I TS 40 X 3, d 39w # If its length is 40 metres, then what is
TS fraf & 2 the breadth of the field ?
! ) 20 ,;\Q‘X\ﬂ
(a) 204 3\ L (a metres x ges %
(b) 247 ; ® Ameres N7 )
= q o . 1
Hiet = (¢) 25 metres \éﬂv e
) .25 Bf‘)\{ 2 Ug\\¢
(d) HHS :ﬂ‘-ﬁ‘g | <9 (d) Datais not sufficient, U
l - QB Set-A
e
= o LY
ccﬁ\{ th!)")
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3. Mo mmﬁ:m N ad 37, If an amount is doubled in three years
ﬁm:ngamt, & 3 =FafE wa ) at a given ratio of compound interest,
the same rate of compound
ﬁiﬁaﬂim ﬁm‘l"ﬂ then at
g T g interest in how many years it will
(a) 2474 become sixteen times ?
(b) 16 a% (a) 24 years
() 8 ad (b) 16 years
@) 12 (c) 8years
. (d) 12 years
fdw : (0. 38 - 40) Directions : (Question 38 - 40)
2) fawrert A 3R B’ ¥ vl fefef@a | The examination results of two schools A and
afergr # e e # | A2 Ryt $ Jwc g | B is given in the table below. Answer the
v & AT - following questions :
o A’ | faemera B School A School B
wamd | Classes
aften 4 frof afend - | Appeared |Pass| Appeared | Pass
* ® | IX 130 —— 90 50
e L X — |160{ 110 '} 80
X —_— 160 110 30
i XI 160 156 . 105 i O et PO 1
S( St W0 | 15| 10 | — X1l M40 11350 10 |-—
o 1 <o
oot | 630 | 550 | 430 | 340 Total | 630 [550| 430 | 340 ";ﬁ
38. H f the total numbe e
A rcent of the total number
o ¥ R s fremeft OW many percen
8. bt of students of both the school are pass ?
. (a) 90.0 g5xL
ol g1 (b) 87.4 | =2
(b) 874 g5l ‘fy&
. (3) %20 (©) 839 \te
e . @ 93 S seaxies
> -
£ @ o2 ol 2
oo 17 SetA
18- 02* e Page e @-}:.r %x\__oo ;
; Leo 63‘
e A%
fleal’ o
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39, o fawrer & wan X % 914
1 de d .
(a) 310
(b) 255
(c) 250
(d) 240 ~

40. foremers <A’ % w1 s HEn-X %
ITE B A ferenfelat w ofwa g

150.6

(b) 155.0

(c) 70.0

(d) 132.5

(a)

FEw: . 41 - 42)

% Frfvea e i -

ot TR E
(i) th/c/lar na %1 3% you are good

(i)  dar tok pa %1 314 good and bad Fen
(1ii) tim na é_k,w FY they are b_ad% I

bt

41, Wﬂmﬁ‘they’aim%ﬂmwm
fermmn d 7
(a) na
(b) tok
+~(c) tim
(d) pit

39, The number of passed students of Class

X from both the school is
(a) 310
(b) 255
(c) 250
(d) 240

40.  Average of passed students of class IX
and class X of school A is

(a) 150.6
(b) 155.0
(c) 70.0
(d) 1325

Directions : (Question 41 - 42)
In a certain code language
(1) Pit dar na means you are good
(i1) dar tok pa means good and bad

(ii1) tim na tok means they are bad

41. Which code is used for ‘they’ in this
language ?

(a) na
(b) tok
(c) tim

(d) pit

page No. 18
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42, I TH H I I@ FE F fow
freferfiga o @ 68 S99 ) TR S

w8 ?

(a) W (1)

(b) HM (i)

(c) T (@) A (ii)
(d) I (i) A (iid)

43. T A’ ©IF A TerR @ B TWE B’
T A 10 Hle 3l g 7 Y, 7 T8 gl
T g 3R 3 B e, P & 98 -
T YS! 3R 14 e aeft |TERHA R
fraft i m g 2

@) 4% " Wt ¢

_b) 5 o
) 276 i WH
1okt
(d) 2476 4 6
9

44, 9fe 5SFE 2012 H EHIC AT 31 A

42. Which of the following statements may

43.

be removed in order to find the answer

of the above question ?
(a) only (i)

(b) only (ii)

(c) either (i) or (i1)

(d) either (ii) or (iii)

Prachi starting from place A towards
east upto place B covered a distance of
10 feets, then she turned right and
moved 3 feets, again she turned right
and moved 14 feets. At how much

distance from place A is she ?
(a) 4 feets

(b) 5 feets

(c) 27 feets

(d) 24 feets

If 5 January, 2012 was Monday, then

2013 I T fea an 2 which was the day on 31% March, 2013 ?
(a) TaER (a) Sunday
(b) THER (b) Monday
(c) WIEER (c) Tuesday
(d) AP (d) None of these
CGP - 18 - 02* Page No. 19 Set-A
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. A AH 3 4, D w1 3%+, P I X

R S #1379 - B, 7 68A48D258P10 ="

iy Lo
(a) 46 69*@ Zf

\

(b) 64 (Rx24 - E®
ey 12

@ 500

3w : (0. 46-43)

0) “FHFSE TR R, D
3%l g sy

@) 5H x4 3 ¥ Rty s e @A D
TE |

(i) 43t x 3 At ¥ Rt 3t ) fem @
TR

(iv) W9 FARRWMATITIL |

(v) FETMH 1 Af x 1 x]RS
T A HRE TR |

46. e =1 2 Faat ©H WA 2

45.

If A means +, D means +, P means x

and S means —, then 68A48D2S8P10 = 7
(a) 46
(b) 64
€) 12

(d) 500

Directions (Question 46 - 48) :

() A wooden cuboid has length 4 cm,
breadth 3 cm and height 5 cm.

(i) Opposite sides of 5 cm x 4 cm are

coloured red.

(iii) Opposite sides of 4 cm X 3 cm are

coloured blue.

(iv) Remaining two sides are coloured

green,

(v) The cuboid is cut-off to divide into

cubesof lcmx 1 cm x 1 cm.

How many cubes will have only one
colour ?

(a) 12 @) 12
(b) 16 (®) 16
(c) 22 © 22
(d) 28 Sidir:
CGP—18-02* Page No. 20 Set-A

;
—.‘

d

S |

Scanned by CamScanner



fFR A A af T T aEm ? 47. How many cubes will have all the three
9
@ 14 colours ?
® 12 e
(b) 12
e © 10
@ 8 @ 8
48, forem =l & SIS T1 A A 7 48. How many cube will have no colour ?
(a) = (a) Nil
®) 6 (b) 6
) 4 (c) 4
@ 2 d 2
49. SR fapafeumue | s Mo diw | 49. Four options are given. There is
¥ T & | Rt e 1 vaT SATRT | similarity in three excluding one. Find
the option which differs.
Sl (@) To hear
(b) <edr (b) To climb
©) AT (¢) Toswim
@ s : (d) Torun
50. vETS g % TN W AE d@ g - 50. The correct number at the place of
question mark is
36 ?
6% 36 @ ?
G/ (125
KO
@4 (@) 4
0 2 ®) 25
(c) 36 (c) 36
(d) 10 @ 10
CGP - 18 -02* Page No. 21 Set-A
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51, U JETR e Ry frean 5 4 2% | 5L From a circular plate of radius 5 cm, a
disc of 3 cm radius was cut, whose
e =51 fiss e fern ST ;
FZA3 W T e & centre is the same point as of plate.
| o1 Q g e @ A A I € Now, have two items a disc and a
o W T ¥ Sywe w7 Wg washer. Find the ratio of area of disc
with washer,
S
() 3 3
3 (@) 3
1
L 1
% 3 ®) 3
9 9
© T © ¢
16 16
@ 5 @ 3
52. QEfivEE R Newiai @RS | 52 Find two numbers such that the
. difference between, their square of sum
T % e q
S 1 37T 2 %_’ =% and sums of square is 2,
(2) et ety T (a) Only imaginary numbers
(b) IS FE Td (b) No numbers
() THEE YHTET TS T TR () One number positive and other
negative
@ FHH g T (d) None of these
53. 50 ¥ %N YTha TEAIS F A g | 53. How many pairs of natural numbers
: . . lying below 50 will satisfy the
i 5 e 2 FE, 3% A condition that the ratio of their
!ﬁﬂWWZﬂ%? difference to their sumis2:7 ?
) 2 (b) 2
() 1 et
f th
@ =il & S 7 (d) None of these
CGP - 18 - 02* Page No. 22 Set-A
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45

4

= 2

(‘é(a

1%
5

54, T, 7 3 ER U ‘W-f E" #9: 30/ | 54. Ram, Shyam and Hari can do a piece of
45 3t 60 A wt wwa & | 9fe 3 frerem work in 30, 45 and 60 days
ctively. If they do the work
34 w7 ) F ¢ 7,800 FAR §, 79Ty o s e
together and eamn T 7,800, then what
Gkl ? amount Ram will receive ?
(a) T3,800 (a) ¥ 3,800
(b) 3,600 (b) 3,600
(c) ¥3,400 (c) T3,400
(d) 3,200 (d 3,200
55, U el 40 fodt /g S Ser €, 3t | 55. A train with speed 40 kmv/hr crosses a
feam % 25 Rt /e St =mer & TR I man, moving in same direction of speed
| . 25 km/hr in 48 seconds. What will be
HATGH! Y, 48 Heheg B TR Tt 8 | LTIt _
the length of train ?
61 TrvaTg T Rl 7 s e/
' (a) 50 metre
(a) 507t _P
AATE™ f (b) 100 metre
~(b) 100 HX Qr
uld + V{" (c) 200 metre
(c) 200HX Lw?" X
lff‘ {/—o (d) 400 metre
(d) 400 HeX
56. ﬁqﬁqﬁgﬁaﬂﬁaﬂqaﬁﬁm I 7 56. Which number will appears in
m BE ) following square ?
2, ,4l:] 8, 81, 3,2,9,4,[ ].8,81,16
—(a) 27 (@) 27
(b) 21 (b) 21
(e} 18 (c) 18
@ 15 (d) 15
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57, Prafafye syt o R @i 87, Consider the following statements :
() STH IS R i;ﬂﬁ}lﬁ () A team leader need skill 1o assess
! strength and weaknesses of team
Td 3R wweifal & e ®
members.
< R s R

(1) A team leader need skill to develop
(i) T T ¥ Jm & fore =i AR

specific individual goals and to

3R ™ & g = il ¥ establish a common goal for the
fuio 1 Sve sww R R,
WMﬁ 2c ,@m‘/g ? Which of the above statement(s) is/are
correct ?
(@) ¥94 (1)
(@ Only (1)
(b) *HTHA (i)

; (b) Only (i)
() (i\'cnii)fﬁﬁ

(©) Both (1) and (i1)
(@ @) IWIA i)

() Neither (1) nor (i1)

58. f=feles § @ o9 @1 -urfl owor | 58,

Which of the following is an example

T IEECTR ? of one-way communication ?
- (a) T oA (gesw) sty (@) A television programme
(b) TH HuT-Hy IRfRufy © (b) A classroom situation
(¢) THEEEH Y ' (©) A conference
(d) et Rmg e des | (d) A meeting on an issue
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frer - (1. 59-62)
Wwﬁmwm
¥ s A :
maﬂ{a&aﬁmﬁ??ﬂamﬁﬁﬁ
At qraEre # T Herfaend, %ﬁw’
s T ERAA I B RE | IFA
i & | 5 @ ¥ T § o
er w1 s, e, B, ASTA, Ty,
reftater 3it ot S ST & T 3 o
e 71 @ | G S G B A
SAfzet i & AT S TETI | | 3T
e T & SR afefieie Gl § | 3
FHE T § 37K Fesi o Wi T8l Werdt
3 | 3 Hiwe vgal & 98 fFee W R | S
reael Gord @ 98 HAFSU HIE T | | A
i g & | e e e & o

Direction : (Question 59 - 62)

Read the following information carefully
and answer the questions :

Ajay, Avinash, Amit, Alok, Arun, Anil
and Akhil are seven friends. They are studying
engineering in different branches such as
Mechanical, Chemical, Electronics, Computer
Science, Information Technology, Biotech and
Electrical not necessarily in the same order.
Each of them also excel in one of the following
games such as Football, Cricket, Hockey,
Badminton, Squash, Volleyball and Lawn
Tennis, again not necessarily in the same order.
@7 plays Hockey and neither studies
Electrical nor Information Technology. Arun
studies Electronics and plays Volleyball. Ajay
studies Biotech and does not play either
Football or Squash. The one who studies
Chemical plays Cricket. The one who plays
Football studies Computer Science.@plays
Squash. Akhil plays Badminton and studies

Tolfagerel TG § | JATEATH Shitrshed T8 95T 8 | Electrical. Alok does not study Chemical. ¢ //5\»
wer e )
4 f Se
. e 7 i %mas Football ? TS Ly )/
(a) 3 Eine %ﬁ (@) @‘ g
, &P
Lifar) g —r
(b) & -L,Ta—a i (b) é@n s D
f-( T
Ac) A :E@// AP Ak -l w(%q; e
?1 ‘ :
(d) ™ ’Hzifl @ “Ej‘%
D o Ll o
afor € o -
CGP-18-02* SR i
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60. JRTFwEER 7
(a) Hiwa

(b) T WY
PIOREE T

(d) IR FIEY

60.

61. fffea iy maassa@aae ? | 61

(a) fsrehe
(b) S
(c) SsfimeA

@ wRBE

62. M eTTRgad ¢

What does Anil study ?

(a) Chemical

(b) Information Technology
(c) Mechanical

(d) Computer Science

Which of the following game does Ajay

play ?

(a) Cricket

(b) Football

(c) Badminton

(d) Lawn Tennis

62. What does Avinash study ?
~(a) T (2) Chemical
(b) e Srefireht (b) Information Technology
(c) Behirhar (c) Mechanical
(d) TAfEREHA (d) Electrical
CGP-18 - 02* Page No. 26 Set-A
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5 AT & @ IBTeR S q}@ 63. Two fair dice are thrown mdependenQy
'EWE‘T ir) by a player and needs a total of 5 to win
a1 § 'amiﬁﬁﬁﬁmﬁmm the game. What will be his probability
@ 2 of winning the game ?
) =
3 2
(@ 3
1
® 3 ;
3 ®) 3
1
© 3 1
: © 3
1
@ 3 1
@ 3
P T W3Tﬁx2:ﬁ§’3§@ 64. A plot of size 3 m X 2 m is dug upto
Iﬁ‘aﬂm@mm&@gmmﬁm depth of 1 m. The soil taken out was
1 " used to form a boundary of the said plot
> H =t Seeh 5w
- T to a height of % m with uniform
3T <eH T R @ A (qr8=h) B :
B thickness of the boundary, then the
ST F1 BN 2 f thickness of the boundary will be
)
o g, " @ 7m
3
(b) %tﬁ PG () 3m
2
©) %rﬁ @ g
@ '5"1'2' -t ?'h‘li .y (d) None of these
65. freht @ oM F o0 F Soww W ws  | 65 Ix:: a:ir‘:;de of ;a«:::s a, ;hlf P of
(h m SiZe 1s drawn. L'hen the ratio
e 7 T 1 5 Bt 1 SR B of area of circle and the area of square
fa) T | 9 will be
a @ =
n A
® 3 . n
) 5
2
s 2
© 2 © .z
(d) T Qe TE (d) None of these
CGP-18-02* Page No. 27 Set-A
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66. wfy-frede wd T R - N, Her o et v T 8 -
(a) g -3 + gy (a) anfig
(b) Hish - + fY (b) TRa
(c) IS — T + NS (©)
(d) 9T ~q + IH @ et
67. R i Y rgwd -
7. YHR & -
(a) 3aeh e WWW
(b) FTefam @i
© oM (b) & &R
(d) &= (c) TEER
(d) HIFI TR
68. ‘3T ISTH 7 @ FT O R -
(a) T e T | 4 73, Fraffga @ ‘T TR -
(b) ATE 7 @emT |« (@) HeF
() I | )+
(d) TR HE | b i
69. ‘TH @ HieM, T Hiw TG ARR = (d) awm
A g -

(@) R 6 I AR TR TR | 74. <EHT 1 G I R -
(b) A I A grH-wr I E | (a) ST

(c) Toft <t Sreet T 7 vt 3R e ) RrEeR

F g @ "
_@ ?::*s’ﬂwﬁwaﬂrgw SR
70. UK HE R ? 75, % feim v @ -
(a) 3= (a) A
(b) =9 (b) 3=/
(©) e © s
(d) 394 (d) T
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7. “qaeAt w18 50, ‘“@@%mmm’%mm
(a) WO a—garrazﬂ'g ?
(b) Wt (a) BT i
(c) i (b) BT BT "
(d) foafereft o) BT T
(d) BTt @

77, e wafeeh % 99w Hre-TuE AR sim

* G (2012) 1 fomel & a1y il o mwﬁﬂmmﬁﬁaﬁ-
oeflagl FA-HUE H T HR

R qEE1-UgE1 &
, YT
(a) STepaeT YAl ® =
(b) TTAT IH ®) g
(c) a&d mi o
d) awE
(d) FEAT STETA @

i ' & o sefiarTel gere
78. “foreapa B o foru o<fterTe garau = L st

¥ 27
(a)' e 8T BT
YT
(b) 3TaheT |1 &L WAl R
7 - (c) WA Y
(:) . (d) BTG
9. “Prawelf g R g | 8 ST A £ -
w7 Gig-Tufed v, g
(a) HrEAT B (a) hiferEr”
(b) HreEs-Hig B (b) gy’
(c) g g (c) Hgar —
(d) Hrf-afa & (d) =war —
ap_u_oza Page No. 29 Set-A
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84, TR AREIRFERRER - | 87, o defE & e & H

sHifye -
ETRCE IURICTE O | SRS Wi S
_Aa) HHST 7 Hfe
(b) i (@) s
(c) W& (5 S
() afean
"R (d) <&q

85. THETE AR R EHA B - | 88, e SR H I R~

T % el
F9e & 3 YU, PR FH Tt = S
(a) T
off (b) =gHT
_~(b) I ©) 3
(c) dier (d) TfEe =
(d) S 89. wiEel TerTyl feaw Y foftr Wy -
(a) 28 T9¥=X
86. TG wwifEd & Rea I A gfd () 14 3T
I - (c) 21 &El
FHAA-EE TSI, W FHh d) 14 R
i S 90, “weeed st s it <, e
(a) ©ifgan PR T13 & 1Y TEHEH HH & ?
i Tt
(b) . fqmer HHR T1SH
S © T
(d) g (d) T3 fomrd
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T

(L e
g Wﬁ;ﬁw%?, o et i Fraerd e & -
4 e (@ Tl
A (b) I
il (©) M
(@ 7l @ TX
' & 2 = o o
g, PRI AR N iy, |7 ferfefiad 5 &
(a) 3 YR ?
@ 1
i () I
(c) A © 1
' @ ®
T B ST ‘T Fa T, o1 A
93, ‘Tl HHH AR 7 98, Z;?:nmmwanf%?
iy (a) EIET]
(b) ©)
L (©) FIR
(d) gt d) I
94, ‘ST I I WgaSA HI QM ? 99, ‘éﬁ'm‘?sﬁ’%awaﬁww%?
(a) €2 (:) EINETS
() 1€ EC; i
(c) ESTHA J A e bk
RS 100, ‘S 1 A TR ?
95, ‘P weg 1 R (THETE) T T & e FEH I,
SeR A Y it IRa I |
@ Fga (a) =g
() Frm ) fewd
() Faf@ (c) YA
(@) v @ T
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